

V1)

$$\mathcal{L}[t^2 \cos t](s) = \left(-\frac{d}{ds}\right)^2 \frac{1}{s^2+1} \quad 2$$

$$= \left(\frac{-2s}{(s^2+1)^2}\right)' = \frac{-2}{(s^2+1)^2} + \frac{4s^2}{(s^2+1)^3} \quad 1 = \frac{6s^4+4s^2-2}{(s^2+1)^4}$$

$$\mathcal{L}[\cos t e^{-2t}](s) = \mathcal{L}[\cos t](s+2) \quad 1$$

$$= \frac{s+2}{(s+2)^2+16} \quad 2$$

$$\mathcal{L}\left[\int_0^t \sin(3(t-u)) \cos u \, du\right] = \mathcal{L}[\sin 3t * \cos t](s) \quad 1$$

$$= \mathcal{L}[\sin 3t](s) \cdot \mathcal{L}[\cos t](s) \quad 1$$

$$= \frac{3}{s^2+9} \cdot \frac{s}{s^2+1} \quad 2$$

V3)
+
+
+
+
+

V2)

$$f(\omega) = \int_{-\infty}^{+\infty} f(t) e^{-i\omega t} dt$$

$$= \int_{-\infty}^0 f(t) e^{-i\omega t} dt + \int_0^{\infty} f(t) e^{-i\omega t} dt \quad 2$$

$$= \int_0^{\infty} f(-s) e^{i\omega s} ds \quad 2 + \int_0^{\infty} f(t) e^{-i\omega t} dt$$

$$= \int_0^{\infty} f(s) e^{i\omega s} ds \quad 1 + \quad "$$

$$= F(-i\omega) + F(i\omega) \quad 3$$

V3)

a) falsch f

b) wahr w

c) wahr w

d) falsch f

e) falsch f

$$z'' - \lambda_2 z = 0$$

$$\bar{\Phi}'' - \lambda_3 \bar{\Phi} = 0$$

$$\tau^2 R'' + \tau R' + (\lambda_3 - (\lambda_1 - \lambda_2) \tau^2) R = 0$$

4c) Ansatz $R(x) = y(u, v)$

$\Rightarrow R'(x) = u y'(u, v), \quad R''(x) = u^2 y''(u, v),$

einsetzen in (2):

$n^2 u^2 y''(u, v) + nu y'(u, v) + (u^2 - k^2) y(u, v) = 0,$

das ist die Besselsche DGL mit $x = uv$

$\Rightarrow y(x) = J_n(x) = J_n(uv) = R(x)$ ist Lösung 2

$R(x) = J_n(x) \stackrel{!}{=} 0 \Rightarrow u = u_{nk}$, die k -te Nullstelle der n -ten Besselfunktion.

Also $R(x) = J_n(u_{nk} \cdot v)$. 2

R1) $Y(s) = \mathcal{L}\{y\}(s)$

$$s^2 Y(s) - \underbrace{sy(0)}_1 - \underbrace{y'(0)}_0 - 4Y(s) = \frac{1}{2} \left(\frac{1}{s-1} - \frac{1}{s+1} \right)$$

$$= \frac{1}{s^2-4} \quad 3$$

$$\Rightarrow (s^2-4)Y(s) = \frac{1}{s^2-4} + s$$

$$\Rightarrow Y(s) = \frac{1}{(s^2-1)(s^2-4)} + \frac{s}{s^2-4} \quad 2$$

$$= \frac{-1}{3} \left\{ \frac{1}{s^2-1} - \frac{1}{s^2-4} \right\} + \frac{s}{s^2-4} \quad 32$$

$$\Rightarrow y(t) = -\frac{1}{3} \left\{ \sinh t - \frac{1}{2} \sinh 2t \right\} + \cosh 2t \quad 3$$

$$\frac{1}{12} (e^{+2t} - e^{-2t}) + \frac{1}{2} (e^{2t} + e^{-2t}) - \frac{1}{3} (e^t - e^{-t})$$

$$\frac{7}{12} e^{2t} + \frac{5}{12} e^{-2t} - \frac{1}{6} e^t + \frac{1}{6} e^{-t}$$

$$\text{TL 2) } \left(\frac{d\psi}{dt} \right)^\wedge (k, t) = \frac{d\hat{\psi}}{dt} (k, t)$$

$$\left(\frac{d^2\psi}{dk^2} \right)^\wedge (k, t) = -k^2 \hat{\psi}(k, t) \quad \#$$

$$\Rightarrow \frac{d\hat{\psi}}{dt} = -k^2 \hat{\psi} \quad 3$$

$$\Rightarrow \hat{\psi}(k, t) = c \cdot e^{-k^2 t} \quad 2$$

$$\begin{aligned} \text{mit } c = \hat{\psi}(k, 0) &= \left(\frac{x^2}{4} \right)^\wedge (k) \quad \leftarrow \text{2} \\ &= \sqrt{4\pi} \frac{1}{k^2} \quad 2 \end{aligned}$$

$$\Rightarrow \hat{\psi}(k, t) = \sqrt{4\pi} \frac{1}{k^2} e^{-(t+1)k^2} \quad \leftarrow \text{2}$$

$$\Rightarrow \psi(x, t) = \sqrt{4\pi} \cdot \frac{1}{\sqrt{4\pi}} \cdot \frac{1}{\sqrt{4(t+1)}} e^{-\frac{x^2}{4(t+1)}}$$

$$= \frac{1}{\sqrt{4(t+1)}} e^{-\frac{x^2}{4(t+1)}} \quad 3$$

R4)

$$\frac{x}{2} \left(1 + \frac{1}{x^2} \right) x^{\frac{x}{2} \left(t - \frac{1}{t} \right)} = \sum_{k=-\infty}^{+\infty} d_k(x) \cdot R \cdot t^{k-\eta} \quad 3$$

mit $t = 1$: 1

$$x = \sum_{k=-\infty}^{+\infty} d_k(x) \cdot R \quad 2$$

$$= \sum_{k=-\infty}^{-1} R \cdot d_k(x) + 0 + \sum_{k=1}^{\infty} R \cdot d_k(x)$$

$$\stackrel{k=-k}{=} \sum_{k=1}^{\infty} (-k) \cdot d_{-k}(x) + \sum_{k=1}^{\infty} R \cdot d_k(x)$$

$$= \sum_{k=1}^{\infty} (-k) (-1)^k \cdot d_k(x) + \quad "$$

$$= \sum_{k=1}^{\infty} k \left[(-1)^{k+1} + 1 \right] d_k(x) \quad 3$$

$$= 2 \sum_{\substack{k=1 \\ k \text{ ungerade}}}^{\infty} k \cdot d_k(x)$$

$$= 2 \sum_{k=0}^{\infty} (2k+1) d_{2k+1}(x) \quad 1$$